



Alternate Del: f'(x) = lim f(x)-f(a)  $x\rightarrow a$   $\chi-a$ Game Plan: To find derivative using the limit definition, following steps: (1+x) F ( (2) - f(x)3 Find f(x+h)-f(x) by add 0+0 (1) Find f(x+h)-f(x) by dividing (3) by b. 5) Find lim f(x+h)-f(x) by taking the lim of 4. EX 1: Find the derivetive of f(x)=x+5 using limit def. Step i f(x+h) = (x+h)+5 = x+h+5  $\frac{1}{\text{Step 2}} - f(x) = -\left[x+5\right] = \frac{-x}{h}$ Step 3: Add O+3 Step 4: Divide 3 by h: h/h = 1 Step 5; | im (4) = | im | = 1 = f(x) Useful formulas: () (a ± b) = a2 ± 2ab+b2 Fertect Square (2)  $a^2 - b^2 = (a - b)(a + b) < Difference of$ Recall point-slope formula Given m-slope and (x1, y1) - point  $y-y_1=m(x-x_1)$ 

BIOCH MI-STOKE AND WILL WILL  $y-y_1=m(x-x_1)$ In this class m is going to be the derivative.  $y-y_i=f(x_i)(x-x_i)$  $F \times 2$ : Given  $f(x) = x^2 - 3$ . @ Find the slope of the tangent line. (i.e. Find f (x).) Step 1:  $f(x+h) = (x+h)^2 - 3 = x^2 + 2xh + h^2 - 3$ Step 3:  $f(x) = -(x^2 - 3) = -x^2 + 3$ Step 3:  $f(x) = -(x^2 - 3) = -x^2 + 3$ Step4: Dvide Step 3 by h.  $\frac{2xh+h^2}{h} = \frac{k(2x+h)}{k} = 2x+h$ Step 5: lim () = lim (2x+h) = 2x+0 = 2x = f(x) Game Plan: To find the equation of the tangent line to f(x) at the point X=C, follow the following steps. 1 Find f'(x) (2) Calculate f'(c) 3 Calculate f(c) 4) Plug 3+ 3 into the point-slope formula y-f(c)=f'(c)(x-c) (b) Find the equation of the tangent line to f(x) at x=2. Step 1: f'(x)=2x (from part a) x<sup>2</sup>-3 Step 2: + (2) = 2(2) = 4 Step3: f(2)= 22-3=4-3=1 Step 4: Point - Slove Formula

Step 4: Point - Slope Formula y-1(2) = $f(2)(x-2)$ y-1 = $4(x-2)$ y-1 = $4x-8$ +1 +1 y= $4x-7$																	
			-		<b>)</b>	1- f	(2):	= <i>f</i>	(2)	(x-2	2)						
					/	y-	= 4	(x-	2)		•						
						y-1	= 4:	x ~ &									
						+1	1.	+1									
		y= 4x-7															